ENBAROBEERT — 2N — ZBISH—F
BLY<=x7:t8 c2 v5%—#

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 37 :198,000 "

2012%2H6H (B) 11E#MEIR

‘ [Ri&] & ‘ [REBE] — | & (&) 12000 FHE

4 7% 132,000 53 :110,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11111 7T7>8=-2a 5 | JBE 1:(1_5).1 6-2-4 |39.8| — | 5 (4726) é?.fiii (#3%8)
R:Ty7NTZT B:IATLERY— "HET77— L4
3 S 44 | RR—H 1:15.4 3-6-5 39.9| — 3 449 | tEZE (1)
2|l 9| ¥2A-FvA 54.0 (1 172) Ly | BHEX
L:T7 RIS YT vIs> B:bhx/ 04— [T e
panlEi:E= :15. -1- . - HEERE (AaHE)
3 NEECESE ISP it 6 i (171274) 1-1-1 | 40.3 7 51_790) Bﬂi&é;&
LTANRTy Y2 BiaiOxTYLy 2L —NTT— L
— . IRHAH TS : -11- — NIRE (D)
4 3| FATHFAF > i 4 o (17.1;;1) 11-11-10 | 38.0 10 ?i? EEIEF&
RV RYTYRIR B:F4T7HRLyH J=HTy—LI
o SHER :15. -9~ . - SAE— (@)
5 gl EPLTRELA b i 5 A (1719574) 10-9-9 | 38.8 2 (4+550) e
R:xF21=gr7—X B:eALSTTU-TA BEHS
S PnEEFNIE :15. == . — JNSE (E#)
6 4| EILY /A * 5 | R 1715531 M A ? f:) L1325
RL:d—ILRAqO— B:7aL-—FK Fif Mk
—a = i o6 | AR 1:15.6 7-7-8 | 39.6| — 6 432 | HEBEERA (A1)
7 6| 2TTIT > 54.0 (3/8) (3 | B3
L:hTA=Z2T B/ -REVY RS
N2 44 | LBBETL 1:15.8 1-5-3 | 40.4| — 4 471 | igEE (118)
8 YARASEE 54.0 ) (-5 | B X
x> inqa— B:var5> k4
. s 4 5 | ETHER 1:16.0 9-10-11 [38.9| — 11 452 | NIFAPE (7@70)
9/8/10 gy=Fz > 54.0 (3/4) (-5) (B) SRLV7AS5LFK
RL:T7HAFALANE B X=Z—H— FREHRS
SN S, 4 | FlREX 1:16.5 322 |41.2| — 1 432 | NIBEFT (fafE)
10/5|5 | ZN>F=Fv > 0 @ 1/2) (o) |EERE
L:7 RIS Y¥<vy 7R B:Ea7N—F=— ke
N #HER :18. —0— . — sARZEA (1)
1lgliy| axEN—Tz2 b it 4 bt 1(198)3 5-2-6 | 43.0 8 (4_424) BrEl
LTITRATFIEIL Bivy 7o)y d EvJLy RT77—L4
® I —F—@EBIERL
13—7+—
23—7— (2,7),(5,9),11,1,6,4,10,8,3
Jol=5r= 2,(1,5,11),7,9, (4,6),8,10,3
40—+ — 2,5,7,1,9,11,4,6,8,3,10
[ N3
BB 1 740M 714K 1-9 900M % E 1-7 1,440 3EHE 1-2-9 5,720/
8 B 1 270M 1-2 800M B 1-7 2,980M K31 1-9-2 33,880
9 210M 2-9 810 B E 1-9 2,730
2 260M B H 1-9 6,130M

ABICOVWTRDTEEERROODE. TR LIV,




